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6. Use the multiplicative congruential method to generate a sequence of four three-digit random
integers. Let Xp = 117, a = 43, and m = 1000.

10. Use the mixed congruential method to generate a sequence of three two-digit random numbers
with Xo = 37, a =7, ¢ =29, and m = 100.

11. Use the mixed congruential method to generate a sequence of three two-digit random integers
between 0 and 24 with Xp = 13, a =9, and ¢ = 35.
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20. Test the following sequence of numbers for uniformity and independence, using procedures

you leaned in this chapter: 0.594, 0.928, 0.515, 0455, 0.507, 0.351, 0.262, 0.797, 0.788.
0.442, 0.097, 0.798, 0.227, 0.127, 0.474, 0.825, 0.007, 0.182, 0.929, 0.852.
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